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Part A: Grammar and vocabulary
Directions: Questions 76- 87 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

76- It is necessary for every student ............... to class on time and well- prepared.
1) comes 2) coming 3) to come 4) who comes
77- Simin told her brother ............... the radio while she was doing her homework.
1) don’t turn on 2) not to turn on 3) not turning on 4) he does not turn on
78- The refrigerator is full of fruit and vegetables. My father ............... to the store.
1) must go 2) should go 3) should have gone 4) must have gone
79- It Was ...ccceeenenee large earthquake that it damaged almost all houses in the village.
1) so 2)soa 3) such 4) such a
80- We were glad to see that the ............... of more wood to the fire made it brighter and warmer.
1) addition 2) formation 3) pollution 4) location
81- Trying to ............... the weather is not an easy job, as it requires special equipment.
1) estimate 2) mention 3) forecast 4) express
82- Farid does not know any French at all, so he should take a (n) ............... course for beginners.
1) direct 2) scientific 3) elementary 4) entirely
83- We were late getting to the airport, but ............... for us, the plane was delayed.
1) luckily 2) basically 3) certainly 4) entirely
84- Ali’s parents should help him more because his ............... in recent exams has been poor.
1) quality 2) victory 3) promotion 4) performance
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85- There is still not much ............... like movie theaters for young people in some small towns.
1) employment 2) entertainment 3) connection 4) environment
86- Bahram is not a child anymore. It is time he ............... life more seriously.
1) made 2) took 3) put 4) did
87- A: “Why are you going out?”
B: “l am going to ..........c.... my coat from the cleaner’s. Is there anything | can do for you?”
1) pick up 2) look after 3) call out 4) make up

um Cloze Test

Have you ever hard an x- ray taken? If you have had a broken bone, toothache, or taken a suitcase
on airplane you ...88... have. At the dentist you put the film inside your mouth. An x ray is a special
way ...89... a picture of a bone, tooth, or ...90... concealed from direct sight. X rays are useful in many
ways. By reading an x ray, a doctor can see if a bone or a tooth has a cavity. The x ray process ...91... in
1989. X rays are useful in finding other hidden things, too. For example, bags at an airport are x- rayed
to see if any dangerous items are inside without having ...92... and look in each one.

88- 1) briefly 2) exactly 3) probably 4) actively

89- 1) talking 2) to take 3) to taking 4) being taken
90- 1) object 2) issue 3) field 4) unit

91- 1) discovered 2) had discovered 3) has discovered 4) was discovered
92- 1) opened 2) opening 3) to open 4) been opened

mm Reading Comprehension
m Passage |.

For many years people have been trying to create a simple universal language that would serve all
over the world as a common means of communication. In the last three hundred years, more than
seven hundred such languages have been suggested. The most successful and the most popular of
these is a language called Esperanto. It was invented by Ludwig Zamenhof, who lived in Poland. When
he was growing up, he saw that people from different backgrounds who lived in Poland had lots of
difficulties communicating with each other. This often led to disagreements. Ludwig felt that a
common language would help them understand each other better and agree with each other. So he
began working on a common international language. He started his work while he was still at school!
In 1887, he published some information about his new language. He did not use his real name. He
used the name Dr. Esperanto (which means “one who hopes”). Soon people from all over the world
became interested in his language, called Esperanto. Today, Esperanto is spoken by about eight
million people throughout the world. Many governments and international organizations recognize it
in many ways. Esperanto is often used on radio broadcasts from official government stations.
93- What is the passage mainly about?

1) The life of a Polish school box

2) Invention of a universal language

3) How Esperanto has helped people

4) How people often do not understand each other
94- What does the word “these” in line 4 refer to?

1) Years 2) Means 3) People 4) Languages
95- Which of the following statements is TRUE?

1) Ludwig was afraid of people, so he changed his name.

2) Ludwig started to work on his idea when he was very young.

3) Esperanto has been widely used for the last three hundred years.

4) May people did not understand Ludwig, so they disagreed with him.
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96- What do we understand about Ludwig Zamenhof?
1) He was hopeful that his invention would become successful one day.
2) He had difficulty communicating with people when he was growing up.
3) He spoke to eight million people in Esperanto.
4) He worked at an official radio station.

m Passage |l:

Weather describes conditions, such as rain, wind, and sunshine, that occur during a short period of
time in a particular place; climate is the overall pattern of weather in a region. From one moment to
the next the weather can change. A warm, sunny day can be overtaken by a violent storm. Dark
clouds form, high winds blow, and rain lashes the ground, yet it may be only a few minutes before the
sunny weather returns. However, in some parts of the world, such as in parts of the tropics, the
weather barely changes for months at a time, there it is always hot and heavy rains fall.
Meteorologists are scientists who measure and forecast the weather. They do this by studying clouds,
winds, and the temperature and pressure of Earth’s atmosphere. But despite the use of satellites,
computers, and other technology in weather forecasting, weather remains a force of nature that is
hard to predict. Several thousand weather stations on land, ships, and aircraft measure weather
conditions around the world. The stations contain instruments that record temperature, rainfall, the
speed and direction of wind, air pressure, and humidity (the amount of water vapor in the air).
Balloons called radiosondes carry instruments to take measurement high in the air. Weather satellites
in space send back pictures of the clouds.

97- Which of the following is TRUE about the difference between weather and climate?
1) Weather refers to predictable atmospheric conditions.
2) Climate refers to conditions such as rain and wind.
3) Weather is a fixed climate pattern in a region.
4) Climate refers to a more constant condition.
98- According to the passage, which of the following do meteorologists NOT do when forecasting
weather?
1) They study clouds.
2) They study winds.
3) They go high in the air in special balloons.
4) They examine the pressure of Earth’s atmosphere.
99- What does the word “barely” in line 6 mean?
1) Never 2) Often 3) Seldom 4) Occasionally
100- Which of the following is NOT true?
1) Weather stations are not built on land only.
2) Weather stations contain highly advanced equipment.
3) Radiosondes are balloons that take certain tools high in the air.
4) Computers and satellites make it possible to predict weather without any difficulty.
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